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| i'-_v'-:Std’_-‘ XI e - SLIP TEST o " Marks:40

. .. 1.LE If cos.28° + sin 28° &, then cos. 17° is equal to .

/

© Date : 0409, 2019 ety o MATHS . Time :1.00 hr
il Choose the correct answer SRR (10x1=10)

S -2 - 3)+—.' ;._4)—1‘-3—,

o 2 A-..{Ifn- <20 <Z then J 24 VAT 2 cos 49 equal to-

+4.1) =2 cos’ 0 — 2) —2sin® a) .1 cos 9 4) 2 sin .9_ :

P 98 1°+ cos 2° + cos 3° .+ cos 179°

4, ‘ Whlch of the followmg is not true?

e PR sm8———; S 2)eosf=1 L By ta G 25 4ysec =1

LR cos 20 cos 2¢ + sin2 (B.—¢)— sin? (9 + (p) i equalto . - TR

oo o D)sin2(8+¢) - 2)cos2(6+¢)- - 3)sin2(6- ¢) ~ 4)cos 2(9 —-¢)
T e '_;Iff (9) Ism BI + 1cos 9| g € R then j(Q) is m the 1nterva1 G

7 i. -;The tnangle of maX1mum area Wlth constant pernneter 12 m

r 1) isan. equnlateral triangle with side 4m S 2)isan 1sosceles triangle w1th 51des 2m Sm, 5m- Sy

.' R -.3)1s a trlanole with sides 3m, 4m, Sm - 4) Does not ex1st
8 . _6056x+6cos4x+15c052x+10 L :

1s'equal to .. ol . - . e
¢ 2 g g Bl cosSx+5cos3x+10cosx ) » N WO o Ly
1) cos?.x 2) gosx "v . L0 .3) 005;.3?4 L e d) 2008




l‘13 . Find the general solution of sec8 = —2 ‘ L
: III Answer all the questlons ‘ Yy
VoA Solve 3c0529 = sin?6
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i

s el ln a AABC lf() Sm" sin E sin > > 0 (11) smA sin B sin C > 0 then
““*. 1) Both (i) and (i}) are true (N 520, only (i) is true
o 3)only (i) istrue - - © " 4)neither (i) not (ii) is true - |
10, A wheelis spmmng at2 radlans/second How many seconds will it take to make 10 completc
o ,‘ rotations? - . - | D>,
1) 107 seconds - 2)20m seconds-. ”, -3)j Sn seconds‘ A 157r seconds :

3 .- II Answer all the questlons : ; £ £ e
. 11 Fmd the prmc1pal solutlon and general solutlons of the followmg sinf = — % ‘

l , Fmd the prmc1pal solutlon and general solut1ons of the followmg cotd =3

o 15 Fmd the general solutlon ofsm 9 =——

C 2

s 4'.16 Solve the followmg equattons for Wthh solutlons lles m the mterval 0° < 9 < 360°
Lt IV Answer all the questions: - : : ; :
. 1 ;;; Solve \/— tan29 4 (\/— 1) tan B 1 = 0 _
8 Ifx+y+z—xyz,thenprovethat + & +

oxi2y .22
1-y ; —22 .-‘1 le—yz 1—'22'

4l 19 IfA + B + C.‘ = 180° prove that tan tan + tan-—tan + tan tan— = 1

(3x2#6)”

CUvExdeey

smx—smx .
(3x5 15)



